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(a) "Investment is a well-planned and thought-out process consisting of a series
of activities." Elaborate this statement and explain the steps in investment
decision process. (6)

(b) Mr Gopal, an investor can purchase either securities of Fashion Textiles Ltd
or Best Tech Ltd. The rates ofreturn ofboth these securities under different
market conditions are as under.

Market
Situation

Probatrilitv Return of Fashion

Textiles Ltd (7o)
Return of Best

Tech Ltd (%)

Good 0.3 11 15

Average 7

Poor 0.2 2 1

Calculate-the expected return and risk from each of the securities. Which
security will Mr Gopal purchase? (9)

OR

(a) "Stock exchanges play a vital role as financial market intermediaries."
Comment? (6)
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Garima bought shares ofXYZ Ltd for Rs i00 at the beginning of2018.
.Dividends received by her and price of the share at the end of each year is

given below :

Year Price at the end

of the year
(Rs)

Dividend received

at the end of
the year (Rs)

201 8 105 5

2019 109 6

2020 2

2021 112 4

2022 n4 5

t12 3

Calculate :

(i) Average return earned by Garima on security of XYZ Ltd (assuming

that the security returns are not subject to any tax).

(ii) What is the risk associated with the security of XYZ Ltd?

(iii) If Garima has the option of investing in another security of ABC Ltd

which .gives a retum of 7 %; assumin g a tax tate of 30% is applicable

to the returns of ABC Ltd; which of these is a better investment for

her? (9)

106

2023

2. (a) What are callable bonds? How are they different from putable bonds-
(6)

(b) Omega Ltd has issued 11% Rs 1000 bonds for 6 years at the following

terms :

Redemption will be done in instalments with Rs 150 being redeemed at the

end of every year from year 1 to 5 and the remaining balance will be

redeemed at the end of the 6s Year.

(i) Wlat is the maximum price that an investor having 12% required rate

of return will be willing to pay for this bond?

(ii) Is the bond worth purchasing at Rs 980?

(iii) Will your answer change if the bond is available at Rs' 970

instead? (9)

OR
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(a)

(b)

(a)

(b)

J

3

Explain the credit rating process of CRISIL. (6)

Bonds of Sole Footwear Ltd are selling at Rs. 840. The bond has 6 years
to maturity & carries 8olo coupon rate with face value of Rs. 1000.

(i) Calculate Yield To Maturity of the bond assuming redemption at a
premium of 5%.

(ii) If the investor has the required rate of return of 1l%; will he purchase

this bond at Rs: 840. (9)

Explain the EIC approach in brief. (6)

A corrpany is expected to grow at 75%o per year for the next 5 years and
then to grow indefinitely at the rate of 5%. The required rate of returtr on
equity shares is 10%. Assume the company paid a dividend of Rs. 4 per
share last year (D.:4). Determine the market price of share today. (9)

OR

Differentiate between fundamental analysis and technical analysis. (6)

Calculate the price of equity share from the following :

Annual Turnover

Operating profrt
Equity share capital (FV100)

Capital Reserve

10% Preference Share Capital
1270 Secured Loan

150lo Unsecured Loan

Fixed assets

Investment in 6% govt. bonds
Tax Rate

P/E Ratio

(a)

(b)

)

60,00,000

10,00,000

30,00,000

40,00,000
10,00,000

15,00,000

10,00,000

30,00,000

8,00,000

25%

20
(e)

4. (a) The following information is available from Mr. X in respect of his portfolio :

Security Weight Expected Retum Standard Deviation
A s0% 20% 24%
D 50% 12% 16%

P.T.O.
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(i) Find out Expected return ofPortfolio.

(ii) Find out the correlation between the returns if the standard deviation

of the portfolio is 20% .

(iii) Find out the standard deviation of the portfolio comprising A and B

in the ratio of 25Yo and 7 5o/o tespectively and correlation coefficient

of 1. (9)

(b) Differentiate Security Market Line and Capital Market Line. (6)

OR

(a) The risk and return of the market portfoli o arc 72Yo and l9Yo respectively.

The risk-free interest rate is l0% and unlimited lending and borrowing is

possible at this rate. Comment on the efficiency of the following portfolio:

Portfolio Expected Return Risk
A a Ao/ 30%

B 16%

C 17% 10%
(e)

@) Explain the CAPM . How does it help in estimating the expected return of
a security? (6)

(a) 3 month call option premium is Rs.2 and 3 month put option premium is

Rs. 3. Assume that the exercise price for both the cases is Rs. 50. Find out

the net payoff of Call Option Hoider and Put Option Holder along with the

graph when Spot price of the share on exercise day is Rs.47, Rs.49, Rs. 50,

Rs.52, Rs.53, Rs. 55, Rs.60. (9)

(b) Write short notes on any two of following :

(i) Insider Trading

(ii) Role of SEBI

(nr) Buy Back of Shares (6)

OR

(a) An investor buys a Nifty Futures contiact for Rs. 2,80,000 (iot size 50

futures ). On the Settlement date, the NIFTY closes at Rs. 5,5i2. Find out

his profit or loss, Ifhe pays Rs. 1000 as brokerage. What would be position,

if he has sold the futures contract. (6)

(b) What do you mean by Insider Trading? Who is an insider trader according

to SEBI regulations? (9)
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i. (o.) "frfu q-*- EfrAfr( Bi( +fi-{q-fr efrqT +, ffi u$ rifrRM rnBo *fr *r"
g€ 6rm * E<R t e.r{Es sfu fifu frotq qB-qr * qrfr * qre, dRqr (o )

(r+) ft riwa, frin+' €qr 2fficrrn frfras qr ie t+. frfrls fr vfrtfrd €a-{ Rm.+

ir ftft-q ErqR RrFrfr + rre gq ffi stu$d a1 ft-+ fr d fiqesr ir
EIf\rIR

frrR
q$I[qdr *em am-er+e frR

elH (2")

e€ t-6 frRls
orH (2")

3r@i 0.3 1',t

Bis-d 0.5 7 8

o.2 2 *I

n+*, cFIrIt t BiqB'd ffi Bir *kc q1 zrsrqi frfrqr * +qTd q.t{tt cft!$'
rsA?+? (c)

qT

(o') "tqt srsn ffiq srsr ctxe+ * w { qE-€S Tfr-+.r ft{rt ir" ftlrfr
B1frs? (o)

(r<) ufur * zora fr grune { roo tv} { xyz ftfrts + tsr ct-h s-++' s{ + ffi
fr vq* ERr crq drripr 3rk Aqt * Eftq( ++ ft !T'{ B,

Year Price at the end

of the year
(Rs)

Dividend received
. at the end of

the year (Rs)

201 8 10s 5

2019 109 6

2020 106 2

2021 tt2 4

2022 5

2023 tt2 3

{o1-ql d&g:
(t) xvz ftRls fr utufi w qRqr ERr sffi'T dvd ffi (a-e qnt gc fr

yR\frffiffi*qt* wt+Tfil)r
(ii) xvz frfr*s * nR\fr + g9r *Rm wr *?

i,
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2.

(iii) uE :iRri * cr< ABc frfr-s q] ffi 3r-q yFrstfr t fifu qit qr fr'o-e

* * z"t" qr ffi ?fr *; na qn* gs 6' \"fre frRls + ffi.n sox !fr
Et rt drq6; s+ t +{-w vc+ ftc 1"q1ga$ i? (s)

(+,) qta E+ +Jq d€ wr *t t yli-d if< t *t fr-q *r (o )

(<e) *hu frftte * ffiF*o rmT qt o str + frc u% tooo {c+ + d€ vit frs
*.

r t s sS E*, ir+m. qS + !rd+ 15e q{ $ qs ffi + furqfrqr ur$n *r
tq {Rr of s{ * trd q ft*q fr urs-frr

(i) rz z uiftm tr{ rt qrdr fi+{rq gs d€ + fts BiBro'-dq ffi frrrd T6r+
* +qR drir?

(ii) Hr d€ sao ts+ t tst-{* Hrqo t?

(rii) uP d-s szo \q+ + E{crer d <} wr sFF[r vf,{ qEa crvrtr? (c )

qT

(a) ftR-aq1*Ecttr{Tchqrfrqrt*rdkqr (o)

(q) *o EcBl-t ftfree * d< aao <qi qt R'* € tr d< fr cfr-n<r ffsEr o s{
* Brtr rooo w+ + #-d Tq + vrq 6o7o qmcr Br

(i) sz * fifrcq vt Rqsr-rqrc+ Es drs * qt cfrs-fl fr rror<r

dfrsr

(ii) qtrfifum*crs lrx+ qqkd<t+fr-+*qiwrqaEe ded sao

tqt qr rsA+Inr (c)

(e.) {ur{fr EF-+"r ri,*c q q{flTq}r (o)

(q) s+-ffi+ irlTe s qff * frcyfr's{ rsz *cttq.a* sfu ft-t sx *E(t
ffikqe qro eo e-d+ fr s$-q *r Effi ma {( ffi * qtkd <t ro% *r q{
mfrq fr 6qfr + M qra a q) ffi fut oi ErtrtrT frsr (no=a ) r srq *ct 6r
eMRTqFEiRaqiftcr (s)

qel-dt
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(q.) wlem ffisq ;ft: T*-+m ffirr * *q rfi silEsr

(re) frqfrfuo t tma fut fr fr{-d 6 rrunr 6Rq:
qrtr6-6TfuR

cfure-c HFT

EEuAiutTfr {vra,oo,

ES sTiRd

ro% st{frr t+t Tfr
12% S&d Eur

tsx erg&o aor

q-{f, frfr
ox qi6rt + fifu qrs

6-( qt

ftzt 3qqrd

60,00,000

'10,00,000

30,00,000

40,00,000

lo,0o,0oo

15,oo,ooo

r0,00,000

30,00,000

8,00,000

25%

20

,i

4. (o,) fr vw t s+* Q-SFri + tdtr + ffift'd vmort oq-.rq *:

(i) i&frftr+ ol uqkd ftr{ c-dr frRcr

(t) qR *&Rrfr 6r qFrn kqa-t zox + + ft-+ + dF v6c{q qor dftsr

(it) mrn: 2s% 3il( 7s% + lr{crd { s sk fi sr+ +&fri& e.r qm* fr*e-r
d{ ftTqtr lurFt' I o1 c-dr drr6+r (c )

(r+) frrelRA qr+c er5r srh +ftz-d qTde aTri-+ erfl dfrsr (o )

etu[R lIR liqErd H qrq-a'frqa-jT

A s0% 20%

B s0% 12% t6%

qT

P.T.O.
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(u) crde +ffiFr& qi *fuc *t ffi mrpr: t2% iir rq% +r *Adq-Tft qrm et

ro% + *r E{ qr yr lrfrfro om ek vtm +rT qrm il Frqfrft*c Q&Frfr *
?rlkrr rR tqft dRSr (c)

Portfolio Expected Retum Risk

A 30%

B 22% 16%

C t7% t0%

(ro ) €Rfis{ fr qr<qr dfrqr zra ffi vfutR + il+Erd ftrf e.r rgqit a:n} fr *t
qre s-.dr i? (o)

(m) fi-rr&torqid ftrtffmq 2 tlt* *t s qA+e,IEe ftiafiRqq s tv+

*r qq fi&c fr ffi qtq-d * ftg \Rr{Trs {s so dq} Br ws vffi(qr{q *
fr'{ fu{ mr rd'c aa 47 rc}, 4e tv}, so Eq+, 52 {c}, 53 tv}, ss tq}, oo

FG a, A urq'* qM Btd Sqr.r un-o sft gE fttr ur.6 6.t Ea gtem arc

dfter (s)

(r") ff='frR+o q t ffi * qt rftq ftqfi frftdq:

J

..+
irlt COLLE(i)*<'est lPr

(ii) +fr+ qft-sT

(iii) M fr ga{48E

:NewDe\htqI

(a) v*.ffirm 2,Bo,ooo w* (me<nu 50 qd$) {ffi ,.{sd q<ur<t-<rir}r

He * drt€ qt, ffi s,sl2 !c+ qt qc *or ir cR E-6 ffiR i w { tooo

tv+o.r tqfl{6,{dri, frvr*T amqrrrftfl-6frfrql cEv<+qad ;t-{iu+sr

+dT, Acs-frftqfrwr*frr (o)

(e) sasrrst |P.i t urro ei ffi + Wffi sqqrtst *i ftl-l

(c)

E
*

:
t

Ci
*

\fl Aj

lvew D6ihi
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